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1. You are evaluating whether to retire your current computer modem

that incorporates new

process?

(A) $50,000 spent on res arch and‘development costs over time on the older modem.
$30,000 from terminating the old modem line.

can be used to build the new modems.

prospects for the new
R

2. Use the following
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product and replace it with a new modem

eatures. Which of the following would NOT be relevant to your decision-making

(B) A loss in revenues of
arket value of $30,000 that

arket research firm to evaluate the sales

(C) Equipment you own witham
(D) $100,000 paid to a m
dem.

er question:

8y Weekb oK vid Vol
Hi%i Lo ,~7Stock] ' Sym Div . % PE_ 100s  Hi_ Lo Close  Chg.
4872 20107 DukeBnergy DUK 100 33 18 20925 3155 2940 = 3020 0,56
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You believe that the re

which is expected to re

or fairly priced?
(A) Overvalued (B)

3. Killnum Corp. announc

expected $1.50 per share. From then on, it is
growth rate of 5% per
(A) The price will lik¢

rise by exactly 50%.

tly double. (B) The price will likely rise by less than 100%. (C)

b HREEY 4 . .
quired return on Duke stock is 16% and that the expected dividend growth rate is 12%,
main constant for the fo

resecable future. Is the stock currently overvalued, undervalued,
Undervalued

(C) Fairly priced (D) Cannot tell without more information.

es that the dividend for the next year will be $2.50 per share rather than the originally
expected that dividends will resume their historical constant
year. What would you expect to happen to the price of the stock? Ignore any tax effects.

The price will likely

(D) The price will remain unchanged.
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4. You note that the return on investment A tends to vary only slightly from its average, definitely less so than

does investment B. Based on this, you believe that:
(A) A has a lower inflation premium than B.  (B) A has a lower return volatility than B. (C)A has a higher
variance than B.| (D) A has a higher standard deviation than B.

5. You are a day trader of stocks and have discovered that you can earn unusually large returns by purchasing
stocks at the open of the day's trading, selling them at noon, buying the shares back at 1:00, and selling the
shares again right before the market close. Which of the following describes this trading strategy?

(A) This would not be a violation of market efficiency. (B)This would be a violation of weak form efficiency.
(C) This would| be a violation of semi-strong form efficiency. (D)This would be a violation of strong form

efficiency.

6. Use the following historical data over the 1926-2001 period to answer question:

Asset Average Return Standard Deviation
Large-company stocks 12.7% 20.2%
Small-company stocks 17.3% 332%
Long-term government bonds 5.7% 9.4%

3.9% 3.2%

%gnsmbuted -forswhich of the fpllowmg returns can you

?j\: ;r?yam

, s, stock return might be equal to?
(D) 52 0%

7. Which of the following constitute acceptab~|e means of making delivery on a stock index futures contract?
(A)cash  (B)treasury bills  (C)Both of the above answers are correct  (D)None of the above answers are

correct.

8. Stock A has a beta coefficient of 0.9, and stock B has a beta coefficient of 1.2. Which of the following -
statements is FALSE regarding these two stocks?
(A) Stock A is less risky from the market's perspective than a typical stock, and stock B is more risky than a
typical stock.| (B)Stock B, if purchased will increase the market risk of a portfolio more than stock A would
(if purchased). (C)Stock A necessarily must have a lower standard deviation of returns than stock B.

(D)Stock B must have a higher expected return than stock A if markets are efficient.

9. Which of the fbllowing is true regarding a stock with beta equal to 1.57
(A)The stock has a 50% higher expected return than the average stock. (B) Given a market risk premium of
10%, the expected return on the stock would be 15%. (C)The stock has 50% mére systematic risk than the
average stock. (D) The standard deviation of the stock is 50% greater than the market portfolio.
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10. In a bear market which option positions make money?

. 1. Buying a call
I1. Writing a call
TI1. Buying a put
IV. Writing a put
(A)Iandll (B)lIandIV (C)II and I (D) and IV. i

11. A bank with long term fixed rate assets funded by short term floating rate liabilities could hedge this risk by
I. Buying a T-bond futures contracts

II Buymg optlons on a T-bord futurcs contract

(B)invest $375,000 in the risk-free asset (CYborrow $125,000

(A) invest $125,000 in the risk-free asset
(D)borrow $375,000.

13. What is the expected return on the market?

)none of the above

Caer
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If you expect a market do} one potentlal defenswe strategy would be to ‘ .
(A)buy stock index futures (B)sell stock index futures  (C)buy stock index optlons (D)sell foreign

exchange futures.

15. Which is a true statement|regarding the variance of risky portfolios?
(A) The higher the coefficient of correlation between securities, the greater will be the reduction in the ' “
- portfolio variance. (B) There is a direct relationship between the securities coefficient of correlation and
the portfolio variance. (C)The degree to which the portfolio variance is reduced depends on the degree of

correlation between securities.  (D)none of the above.
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1. Which of the following two stocks is more volatile based on their historical returns?__(1)
Year 1 2 3 - 4 5
Return A 05 .08 RY! A4 17
Return B .20 22 .24 .26 28

2. What is the beta for a portfolio equally weighted in four assets: A, the market portfolio; B, which has half the
risk of A; C, which has twice the risk of A; and D, which is risk-free? (BR%E SEREEZA) (D)

3. Given the following information, what is the portfolio standard deviation (RENHBEmA)?T__Q3)

State Probability = Return
Boom 25 .40
Good .50 15
Recession 25 .05

4. Use the foilowing to answer questions:

Standard Deviation Beta
Security X 0.35 1.45

 the gr est expeéted return?__(5)

5. A firm with no|debt has 200,000 shares outstanding valued at $20 eacﬁ. Its cost of equity is 12%. The firm is
considering adding $1 million in debt to its capital structure. The coupon rate would be 8% and the bonds

would sell for par value. The firm's tax rate is 34%. How much will the firm be worth after adding the debt?
(6)

6. Consider a treasury bill with a rate of return of 5% and the following risky securities:
Security A E(r) = .15; o2 = .0400
Security B1E(r)=.10; o2 =.0225
Security C{ E(r) = .12; 62 =.1000
Security Dt E()=.13; 02 =.0625
The investor must develop a complete portfolio by combining the risk-free asset with one of the securities
mentioned above.  The security the investor would choose as part of his complete portfolio would be

()
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7. Use the following to answer questions:

" Summary Output
Regression Statistics

Multiple R 0.35

R Square 2 0.12

Adjusted R Square 0.02

Standard Error 38.45

Observations 12

Coefficients  Standard Error t Stat P-value

Intercept 4.05 ] 15.44 0.26 .80
Market -:1.324 0.97 1.36 10

sk

(a) The charactenstlc Ime

r thxs stock is __(8)
(b). ( ) percent of the variance is explamed by this regressmn

8. Use the following to answer questions:

The average returns, standard deviations and betas for three funds are given below along with data for the S&P
500 index. The riskfree return during the sample period is 6%.

Fund Avg Return ., Beta

hest él;;rbe’index of performance is (10) .
(b). The fund with the highest Treynor index of performance is __(11) .

(a).The fund with the high






